Best model for HELP J120532.646-020951.206 at z = 0.516 x*=2.86
OPTx?=0.59 IRY%2=11.09 threshold (OPT IR)=12.13 [um]

2 1 . Stellar attenuated
10 3 e Stellar unattenuated
] —— Dust emission
1 —— AGN emission
101 E = Model spectrum
E ® Model fluxes
i M oObserved fluxes
100 -
S\ ]
= 107" 1
X £
2 ] 'ﬂb\"\,““"%-\\ﬂr;h...rwo'-"“"‘\\ﬁ
* 102 :
1
=
= ==f=(Obs-Mod)/Obs
=}
S
U) ------------------
g ]
) ]
2 ]
S ]
© -1 T
]
[a'd

Observed wavelength [um]

T T L L | T L L | T L L | T T T T TrTrTT cM
10° 10! 102 103 104 @



